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2./ Find the Thevenin equivalent voltage Vi, as seen from termlnals a-bin
the circuit shown I —
+

a. Vin=97.5V 60U
b. Vin=22.5V
¢ Vp=22.5V 1‘)
d Viyp=37.5V 2h
e. None of the above

b

3// ’ Find the equivalent Thevenin resistance seen from terminals a-b in the

circuit shown in Problem 2.

6.74Q

9.37Q

12.6Q

16.32Q2

None of the above
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4. Find the absolute value of the power delivered by the dependent

voltage source. r—>

150.11W

75.34W .
375.78W gov ()
500.04W

None of the above
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5. Calculate the value of R which will absorb maximum power from the

‘circuit shown. Also compute the value of this

maximum power.

5Q, 720W
10/3Q, 270W
10Q, 1800W {20V
10/3Q, 1080W C*‘)

None of the above
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[image: image3.png]6. A network excited only by current sources is shown below. Determine the

voltage at node 1.

a. 18.65V
b. 26.43 V
c.31.33V
d.22.35V

e. None of the above

7.

10 kQ

7.5 kQ

20 kQ

5kQ

None of the above
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In the circuit shown, the resistance R is:
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8. The currenf in the 9Q resistor in the figure shown is:

5A
2A
3A
4A
None of the above
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9. For the current | to be 5A in the circuit shown, the resistance R must be:

10Q
20Q
30Q
40Q
None of the above
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10. In the circuit shown, the current | is:

05A

B6A

1.2A

0.95A

None of the above
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[image: image4.png]11. In the circuit shown, the resistance across the terminals a-b is:

AN
a. 10 a® M- ®
b. 2Q
c. 4Q (D)2
d. 6Q Ang éa In
e. None of the above én
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//1 2. The Thevenin voltage seen from terminals a-b in the figure shown is:
. 1\/\'1 .

100V

32V

163.3V

240V

None of the above
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/3. In problem 12, the Thevenin resistance seen from terminals a-b is:

10 Q

11.3Q2

3Q

34Q

None of the above
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